Using number strategies to solve equations

Strategic Solving: Part IV

We are using number strategies to solve linear equations with fractions.

Exercise 1 – Finding x.
What to do:

1)
Rewrite the equation in a way that will help you find the x 

that makes the equation true.
2)
Clearly explain the strategy you use to solve this equation.

3) Give the value of x that makes the equation true.

4) Simplify your answer if possible.

e.g. 
Equation: 
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Strategy: 
8 fourteenths – 1 fourteenth = 7 fourteenths
Solution:
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Simplified:
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Exercise 2 – Writing word problems
Select 10 of these equations and write a word problem that the equation 

could be used to solve.

Answers:
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